
D

GB

F

E

I

NL

P

DK RU

N

S

SF

CZ

H

PL

GR

Installation Instructions

Einbauanleitung

Instrucciones de Montaje

Instructions de Montage

Istruzioni di Montaggio

Instruções de Montagem

Inbouw-Instructie

Monteringsvejledning

Monteringsveiledning

Monteringsanvisning

Asennusohje

Návod k Montáži

Beszerelési Utasítása

Instrukcja Instalowania

Part No:

  

 

JMZ BM****01500001MAZDA 3 BM 3MZ BN6***0M300001

Part No: QBM2 50 AH0 

Date: 02-08-2016

Sheet 1 of 7

© Copyrights MAZDA

Expert Fitment Required
Montage durch Fachwerkstatt erforderlich

Montaje sólo por el concesionario
Montage par spécialiste nécessaire

E' necessario in officina specializzata
Especialista em montagem requerido

Montage door vakman nodig
Montage ved professionelt værksted påkrævet
Nødvendig med montering fra fagvegverksted

Verkstadsmontage erfordras
Asennus tarpeen merkkikorjaamossa

KJE-K6027-0480

FRONT UNDER SKIRT

FRONTSCHÜRZE

FALDÓN INFERIOR DELANTERO

AVANT SOUS LA JUPE

MINIGONNA ANTERIORE

SAIA PROTETORA DIANTEIRA

ONDERSTE RANDPANEEL VOOR

UNDERSKØRT, FORSIDE

SMUSKJØRT, FORAN

FRÄMRE SIDOKJOL

ETUHELMA

SPOJLER PRZEDNI



Sheet 2 of 7

KJE-K6027-0480



Sheet 3 of 7

KJE-K6027-0480



C

X 8

E

X 2

F

X 2

G H

X 1

I

X 1

A

X 1

B

X 4[M5X40]

[M5X20]

[M5X12]

D

X 4

X 2[M5X25]

DESCRIPTION
QBM2 50 AH0
>PP+TD17<

Separate Purchase

Sheet 4 of 7

KJE-K6027-0480

(LH)

(RH)

3M Promoter 4298



3

1 2

4

KJE-K6027-0480

Vehicle front Vehicle front

L+RL+R

L+R 1

1

3

2

2

2

G -A,B (LH / RH)

G -A (LH)-A (LH)-A (LH)

G -B (LH)-B (LH)-B (LH)

P-7 13

L+R

G -A (LH)-A (LH)-A (LH)

G -B (LH)-B (LH)-B (LH)

ø9ø9

ø9ø9

1 32

10mmG X 5

4

X 5

X 5

ø2mm
ø5mm
ø8mm

ø8
ø2mm
ø5mm
ø9mm

ø9

ø8

Sheet 5 of 7



7 8

5 6

9 10

KJE-K6027-0480

Vehicle front

L+RL+R

L+R

5

4
3

H
H

B

A A

A

DF D F

E

A

I

1

1 1
1

1

1

1

2

2

3

5 min I

1 2

5 min

L+RL+R

CLEANER 2-3 min

21

X 4C

C

H

Sheet 6 of 7



11 12

13

15

14

Vehicle front

24 h

Vehicle front

1

2

4

8

3 5
7

6

H

HDB
F

F

B

A

A

H
F

L+R

L+R

P-5  1

D

1

2 2

L+R

Sheet 7 of 7

KJE-K6027-0480

1.5~2.0 N·m

0.8~1.2 N·m

>50N


	001
	1st_QBM2 50 AH0_FrontUnderSkirt_16_20160802
	002
	003

	004
	1st_QBM2 50 AH0_FrontUnderSkirt_16_20160802
	005

	006
	1st_QBM2 50 AH0_FrontUnderSkirt_16_20160802
	007


